Logaritmi

Sistemi di equazioni logaritmiche

x+y=13 ~ o }
! (logx +logy = log 36 x=4,y=9 x=9 y=4
5 x+y=29 25, 4

(Logx + Logy = 2

Logx +Logy =3
(Logx — Logy =1

x =100, y =10

Logx —Logy =1

=10, y=1
! (3Logx +2Logy =3 * Y
( 2 _
s x+ Logy“ =3 x=1 y=10
y* =10
Logx —Logy =1 c
6 |1 @_I_Z_yzs x=25 y=5; x=100, y =10
X 5
( +3 3 —
; x°+y>=1001 x=10, y=1
Logx —Logy =1
( =
o Logx +Logy =1 X=5 y=2 x=2 y=5

x+y=7

{5(logy x + log, y) =26

xy = 64
xy =40 B o ~
10 \5cLog ¥-Log 2 — o x=2, y=20; x=10, y=4
x¥ =16
1 42:2 x=4, y=2
y
xy =40 B o ~
12 5Log ¥ — 4 x=10, y=4; x=4, y=10
Logy —
X =2
=10, y=2; x=2, y=10
b ( xy =20 x y x y
(logy logz log,y =0
14 — x=3, y=9
log, 9 =1
(Logx +Logy =1 ~ 1
® Logx —Logy =3 x =100, y=—=;
2 2 —
16 x“+y° =13 x=2 y=3 x=3, y=2
llogx +logy =log6
17 LO%x+£Ogy=1 x=5 y=2,x=2, y=5
[ x*+y* =641
1
18 ‘LOg&_Log‘/_zf x =100, y=10
3Logx+2Logy =8
( x y —
19 X' +y” =31 Xx=2 y=3 x=3, y=2

xlogx +ylogy =log 108
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Logaritmi

2 {xy:loo =10 =10: _ 1t = 1000
xLogx = 10 el T

" {log2x+2log4y=3 x=2, y=4 x=4, y=2

X+y=6

{yLogx=4 1

- 1 x=100, y=2; x=—, y=—
xy =10 o

23

Log100 + Logy = 4
(Log x + log, 100 = 2

x =10, y =100

24

log, xy =5
| logi = =1
0g1—=
gf}’

25

( Log(x*+7y?)—1 = Logl3
Log(x +y)+ Log(x —y) = 5Log2

26

(xY =5x —4
log, 16 = 4

27

(logs x —log,y =0
x2—5y2+4=0

28

(log, x —log,y =0
x> +y=12

29

2%4Y =32
llog(x — y)? = 2log2

30

Logx — Logy = Log\/ﬁ

5
2Logx + Logy = >

31

x+y=25
(Logx + Logy =2

(logs x + logs y = —0,5 _!
32 logs x — logs y = —1,5 *=3 y=+3
( —
43 | {log(x +y) = (logx + logy) x—4,y=i
2% =g °
" Logx —Logy =1 x =100, y =10
L zx.zy:830
Logx
35 Logy x=9 y=3
3%:37 =93
x2+y% =29
. x=2,y=5 x=5 y=2
Log\/_+Log\/_—
Logx —Logy =2 _ _1
37 { x+xy=11 x—10.y—ﬁ
w | {27001 —10, y=-2 x=—, y=
Logx*+y =0 T W T
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Logaritmi

Sistemi di equazioni logaritmiche

39

{ 5log,(2x — 3y) —3log,(6x —5y) =3
12log,(2x — 3y) — 51log,(6x — 5y) = 16

x=1 y=-2

40

logs z + logz x = 2b

{logg y+logzz = 2a
logs x +logzy = 2¢

x = 3b+c—a, y = 3c+a—b,z — 3a+b—c

41

7
logysx +log,y = >
x% +y% =320

x=8, y=16; x =16, y=8

42

( xLogy =1
Logx + Logy =1

x=1, y=10; x=10, y=1

43

(log,(x* +x+4) —3log,(y* +y +4) =-2
log,(x* + x + 4)*> + 2log1s(¥* +y + 4) = 10

x=3, y=3;, x=-4 y=-4
x=3, y=—4 x=-4, y=3

3
" <Logx-Logy=E x=:\/1000, yTW;
xy = 10 x =Y10, y= V1000
( 2 2\ —
ss | {Log(x®y) + Log(xy™) =9 x =100, y=10; x =10, y =100
x+y =110

46

x Y\
Log(xy) + Log (y + x) =2
Log(8x + 6y) =2

47

{logax—logay= b
xX+y=a

x=ab+1' y=ab+1

48

{ x19Y =100
(Logx)? + (Logy)? =5

x =10, y=100; x =100, y=10

1111
100 YT 100 *T 1000 YT 10

49

(lL 1L =0
cLogx —>Logy =

1L 1L =1
5 Logx —5Logz =

A

1L 1L =2
(5 Logz —zLogy =

x =10, y=10°% z=108

50

Logx — Logy = 1
x? + y? = 10100

x =100, y =10

51

2Logx + Logy = 5
( Logx — Logy =1

x =100, y =10

52

(Logx + Logy = 2
x—y=21

x=25 y=4

53

(Logx + Logy = 4
Logx — Logy = 2

x =1000, y =10

54

(xy = 300
xLogy =9

x=3, y=100

55

x3 +y3 =1001
(Logx + Logy = 1

x=10, y=1;, x=1, y=10
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